EARAZROREIERT — 2 N—XBISY —F 201698 7R (k) 11[EIFIRI2HE

m DEEKREEF] S RO ECEE R
[A&4£] 1 7% :300,000 ™ ~ 23#%&:60,000H”  33&:4500 M  437&:30,000H .~ 57&:15,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
LA s 2 | EBEC 1:02.0 1-1 38.3| — 1 450 | REREL (LiEE)
TR ZPDE 54.0 ot ) *agmmE
LA R=3I2UR—L BNILTRILA BNEHS
> p i o2 | EATEE 1:02.5 3-4 38.4| — 2 392 |WOE— (L&)
2|5|5| A bU=T1 > 54.0 @ 1/2) o | -
RSWINYT— BT hELY e =
N BREFF : - - HeIE— (deiEHE)
s 4 SA—-YFTATYT 4 2 54_0% 1.(0333.2 7-6 37.6 5 (32‘2) S BE
L:O—-LiFL1a B:I¥LhLyH— ENCVEEIZ ¢
) A o2 | BT 1:03.5 3-2 39.4| — 4 504 | MAER (LiEE)
s g y3| 577> 0 (11/2) (+4) I
R:dr—3I)F7> BVITLIA—> R KR—
S o2 | FETE 1:03.7 6-7 38.3| — 7 404 | EXREHSE (tEE)
5 7177 54.0 ) (=) HiE#E -
RO=JXA 2214 B:vA32hxVT EvilLy RT7—L
. = Wt :03. = . — EREIERL (AbimE)
s > 2L4—FZRNSA k 4 2 5?.0 1(10/32)8 2-3 39.9 3 (ﬂg) ki TIE,
LNNVTSY B:T7F4T 4 =Eivie
. alllE : - - KMty (i)
1 - BEEREELSE o2 2 1.&4).4 5-5 39.8 6 ?gis Hltee BiE
L IAY 2 TFE2T71 BFavARI v B FIRR
@ 1 — S —EBIEf
13—7+—
230—7F—
Jol=5r= 1,2,(3,5),6,7,4
40—+ — 1,3,2,5,6,4,7
[ N3
BB 1 180H4 714K 1-5 120H B = 1-5 260M 3EHE 1-4-5 780H
8 B 1 110 1-4 350M B H 1= 490M K31 1-5-4 2,330
5 180M 4-5 330

ABICOVWTRDTEEERROODE. TR LIV,



